0 | —oes s 00ma-23.9) | o0.00216 + 0.0106(0.118) 0.0389 + 0.01832.13) 0.0104 + 0.0183(0.564) 0.0357 + 0.0183(1.95) ~0.0170 + 0.018(~0.997) | —0.0311 4 0.0187(~166) | 0.0074 + 0.0188(1.49)
1| oo xooms—1se) | o0 0mer) 0.016  0.0164(0.872) —0.0125 + 0.0191(—0.657) | —0.00833 = 0.0186(~0.449) | —0.0221+0.0183(~121) | —0.0562+0.0185(-32) | 0.0151  0.0181(0.536)
2 | o000+ oosios0n) | —0.0226 + 0.018s(—1.21) | —0.00623 % 0.018(0.347) |  —0.0235 & 0.018(~1.3) —0.0201 + 0.0183(~1.1) | —0.00449 - 0.0185(—0.243) | —0.00096 + 0.0188(~0.529) | 0.00600 - 0.0185(0.328)
3 | —0.046 = 0.0163(~2.56) | —0.00842 = 0.0163(~0.515) | —0.00109 + 0.0185(~0.0579) | 0.0108 = 0.0168(0.577) —0.0519 = 0.0184(—2.63) 0.0274 £ 0.0177(1.55) | —0.00217 & 0.0186(~0.117) | —0.00915 = 0.0187(0.49)
4 | —oonzooms -1 [ oows:oosiias | —o.o0ss7 & 0.0182—0.378) | —0.00106 - 0.0187(—0.0568) | 0.00008  0.0189(0.481) 0.0156 £ 0.0181(0.861) | —0.0141 + 0.0186(—0.759) | 0.00458 & 0.0178(0.279)
5 | o0z o0ms(-196) | 0.0231 + 0.019(1.22) ~0.0160 + 0.0183(~0.02) | —0.0138 £ 0.0183(~0.75) | 9.56e — 05 + 0.0188(0.00521) | 0.0158 = 0.0186(0.845) 0.00727 = 0.0191(0.381) 0.020 + 0.0185(1.57)

6 | —0.031 = 0.0186(-1.69) 0.0184 + 0.0183(1) —0.000709  0.0182(—0.039) | —0.00728 £ 0.0169(—0.385) |  0.0223 % 0.0182(1.22) | —0.00232 = 0.0186(~0.125) | 0.00674 + 0.0177(0.551) | —0.00613 + 0.018(—0.341)
7 | o.0002 + 0.018800.22) 0.022  0.0181(01.22) 0.00412 & 0.0185(~0.22) | 0.0044 + 0.0167(0.236) 0.0291  0.0188(1.55) 0.00853 + 0.0184(~0.463) | ~0.00649 - 0.0182(~0.356) | 0.00402 : 0.0183(0.22)
8 | o001+ 001030 0.0116 + 0.0184(0.613) | —0.0169 + 0.0185(—0.015) 0.0204 - 0.0182(1.34) 0.00532 + 0.0185(0.263) | —0.0137 + 0.0185(~0.739) | —0.0167 = 0.0185(~0.903) | —0.0278  0.0183(1.52)
9 | o.o0s6 + 0.01e0.30) | —0.0003 + 0.0162(—0.514) | —0.0405 + 0.0162(~2.22) | 0.00885 + 0.0182(0.487) 0.0361 + 0.0185(1.96) —0.0220 4 0.019(~1.2) [ —0.0506 + 0.0183(~2.77) | —0.0260  0.0183(~1.46)
10 | —o.0156 + 0.0185(—0.86) | —0.00611 % 0.018(—0.38) | —0.0241 + 0.0184(—1.31) 0.0204 - 0.0186(1.09) —0.00378 = 0.0189(~0.201) | —0.0155 = 0.0185(~0.84) 0.0276 = 0.0184(1.5) 0.0137  0.0185(0.742)
11| —ooom+00m8(—0.44) |  0.0530 + 0.0182(2.96) —0.0063 + 0.0189(—0.334) | —0.0207 £ 0.019(—1.57) | —0.00305 + 0.0183(~0.166) | —0.0503 + 0.0183(~2.75) | —0.0137 + 0.0181(0.758) | 0.0160  0.0187(0.902)




